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KENDRIYA VIDYALAYA KHADAKWASLA - NDA, PUNE 

IDEAL / MODEL ANSER KEY FOR 

HALF YEARLY EXAM ( 2018-19 ) 

Class : Xth                                                M. Marks : 80                             M. Time : 3 Hours 

Sub. Socials Science                                      Date : ……… /……… /…………. 

Sr. 

No. 

Q. 

No. 

Expected answer / Answers  Marking 

Scheme  

Total 

Marks  

01 

 

01 Napoleon Bonaparte. 01 01 

02 

 

02 General Dyer.  01 01 

03 

 

03 Assam. 01 01 

04 

 

04 “Power of African People”   01 01 

05 05 

 

HDI = Human Development Index. 01 01 

06 06 

 

China 01 01 

07 07 

 

Bank  01 01 

08 08 

 

- 1) The process of unification : 

        2) Role of Bismarck : 

        3) Role of Gariboldy : 

        4) Nationalism in Germany : 

        5) Conclusion : 

            ( Elaboration of these points )  

 

OR 

1) Nation - State system in Britain : 

2) The “United Kingdom” system in Britain : 

3) Kingship in Britain : 

4) The Industrial Revolution : 

5) Conclusion : 

( Elaboration of these points ) 

 

 

 

( 1+1+1+ 

1=04 ) 

 

 

04 

09 09 

 

- 1) Among different organs of government : 

        2) Among governments at different levels : 

        3) Among different Social Groups : 

        4) Among Political parties, Pressure groups and Movements :                        

            ( Elaboration of these points ) 

 

 

( 1+1+1+ 

1=04 ) 

 

04 

10 10 

 

- 1) Modern forms of currency : 

        2) Medium of exchange :  

        3) Importance of currency : 

        4) Role of currency in economy : 

 

( 1+1+1+ 

1=04 ) 

 

04 



2 
 

        5) Conclusion :  

 

11 11 

 

- 1) To make self depend : 

2) Local source of capital : 

3) Any time available : 

4) Minimum interest : 

5) Importance for poor people  

6) Special for women     

7) Need in rural area : 

    ( Elaboration of these points ) 

 

 

 

( 1+1+1+ 

1=04 ) 

 

 

04 

12 12 

 

- 1) On the basis of Ownership : 

            i ) Individual Resources : 

            ii ) Community Owned Resources : 

            iii ) National Resources : 

            iv ) International Resources : 

 

OR 

 

- 2) On the basis of Exhaustibility  

   i ) Renewable Resources : 

   ii ) Non-Renewable Resources : 

               ( Elaboration of These points ) 

 

 

 

 

( 1+1+1+ 

1=04 ) 

 

 

 

04 

13 13 

 

- 1) To establish democracy in real : 

2) To share the powers among all the social groups : 

3) To give representation for all the people’s groups : 

4) To separate the powers : 

5) Conclusion : 

   ( Elaboration of these points ) 

 

 

 

( 1+1+1+ 

1=04 ) 

 

 

04 

14 14 

 

- 1) In the election : 

2) Social division : 

3) religious division : 

4) Cast based division : 

    ( Elaboration of these points )  

 

 

 

( 1+1+1+1 

= 04 ) 

 

 

04 

15 15 

 

-  1) Importance - 

   i ) For the save our earth : 

   ii ) To secure our future : 

2) How can we maintain – 

   i ) With sustainable development : 

  ii ) To avoid pollution : 

  iii ) To control population : 

       ( Elaboration of these points ) 

 

 

 

(2+2=04) 

 

 

04 

16 16 

 

- 1) Non Co-Operation Movement : 

2) Khilafat Movement : 

3) Importance in Indian freedom struggle : 

            ( Elaboration of these points ) 

 

(2+2+2=4) 

 

06 

17 17 - 1) Guiseppe Mazzini :   



3 
 

 2) Frankfurt Parliament : 

3) The Greek War of independence : 

     ( 03 marks for each elaborated point )  

( 3+3=06 ) 06 

18 18 

 

- 1) Primitive Subsistence Farming : 

2) Intensive Subsistence Farming : 

3) Commercial Farming : 

   ( Elaboration of these points )  

 

 

 

(2+2+2=6)  

 

 

06 

19 19 

 

- 1) Two or more levels of the government : 

2) Own Jurisdiction of governments : 

3) Fundamental Provisions : 

4) Source of Revenue for each level of governments : 

5) To promote and safeguard unity of the country : 

6) Fundamental Rights : 

7) Separation of the powers : 

   ( Elaboration of these points ) 

   

 

 

 

(1+1+1+1 

+1+1=06)  

 

 

 

06 

20 20 

 

- 1) The nature of water scarcity : 

2) Reasons of its : 

3) Solutions on it :  

   ( Elaboration of these points )  

 

 

 

(2+2+2=6) 

 

 

06 

 

 

21 21 

 

- 1) Primary Sector : 

2) Secondary Sector : 

3) Tertiary Sector : 

  ( Elaboration of these points ) 

 

 

 

(2+2+2=6) 

 

 

 

06 

22 22 

 

- ( One mark for each right indication )  (1+1+1+ 

1+1=05)  

 

05 

Total 22 

 

  80  

 


